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i) General Awareness

As we go North to South, mountain
ranges are-encountered in the following
order.

1. Satpura

2. Dhaula Dhar
3. Vindhya

4, Shivalik

(A) 1234

(C) 2431

(B) 2413
D) 4213

‘Black Cotton Soil’ is likely to be
encounterad in

(A) Himachal Pradesh
(B) Uttar Pradesh

(C) Kamataka

(D) Gujarat

Retrealing Monsoons produce profuse
rainfall in

(A) Konkan

(B} Saurashira

(C) Coromandal

(D) Gangetic plains

The iron pillar pear Qutb Minar in Dethi
was made by

(A) Ashoka

(B) Akbar

(C) Samudragupta

(D) Chandragupta ll

‘Poona Pact’ was between Gandhi and
(A) Ambedkar

(B) Jinnah

(C) Mountbatien

(D) Subhash Chandra Bose

6.

10.

Which among Akbar's Navratna's was
involved in creating a land revenue
system ?

(A) Mansingh

(B) Abul Fazl

(C} Todarmal

(D) Abdul Rahim Khan-i-Khana

Colours seen in a soap bubble are
due to

(&) Refraction

(B) Total internal reflection
(C) Absorption

(D) Interference

Which worm most commonly causes
anaemia in children ?

(A) Earth Worm

(B) Round Worm

(C) Tape Worm

(D) Hook Worm

Which oxides are mainly associated
with Photochemical Smog ?

(A) Sulfur oxides

(B) Carbon monoxide

(C) Nitrogen exides

(D) Silicon oxides

Which organ is associated with
biological rhythm in mammals ?

(A) Pineal

(B) Pituitary

(C) Thyroid

(D) Thymus
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14,
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Indirect taxes are considered
(A) Progressive

(B) Regressive

(C) Both

(D) Neither

Pradhan Mantri Mudra Yojana is
related to

(A) Banking

(B) Agriculture

(C) Poverty reduction
(D) Industries

In Micresoft Word, Ctrl + Z Is acommand
for

(A) Opening new document
(B) Opening existing document
(C) Fermatting a document

(B) Undo

Interest rates on saving accounts are
decided by

(A} Reserve Bank of India

(B} Union Cabinet

(C) Finance Ministry

(D) Individual Banks

Power of issuing a writ of Habeas
Corpus lies with

(A) Supreme Court

(B) High Courts

(C) District and Session Court

(D) Both (A) and (B)

16.

17.

18.

18.

20.
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Mohiniattamn is a dance form from the
State of

(A) Karnataka

(B) Kerala

(C) Andhra Pradesh
(D) Tamil Nadu

A famous exponent of Shehnai
(A) Amjad Ali Khan

(B) Bismillah Khan

(C) Allah Rakha Khan

(B) Javed Khan

On 17! September 2017, P. V. Sindhu
beat a ptayer from which country o win
the BWF Korean open super series ?
(A) Japan

(B) China

(C) Korea

(D) UK

The Malabar naval exercise involve
India; USA and

(A) France

(B) UK

(C) Australia

(D) Japan

The term of Vice-President of India is
(A) 4 years
(B) 5years
(C) 6years
(D) 2years
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13.

14.

15.

ST A IS
(A) TRttt

(8) wfermf

(C) 2

(D) e

(A) &

(B) Ff¥

(C) T e
(D) =ivii

AR TS § Cirl + Z 998
% fere e 2l 21

(A) T GRS e & o7

(B) TSI st @her % ey

(C) ek EaTa 1 Hie S & g

(D) 98,

waq @l WS el
Tt s 81

(A) et fis s
(B) wefm Fhme

(C) Tomiwnem

(D) S %

s et Resnf e Rl el
AfRAE

(A) e =TS

(B) 3= =IEE

(C) T ud w2 =TTy

(D) (A) 3% (B) AF
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(B) TF
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(D) =maH
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(A) 458
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ii) General Intelligence and Reasoning Ability

51,
-—Em?ﬂ—Sm M| 2
M Tz [|= 1|z %}
A ® © ©
72

Qe
IO

® © ©

O

(A)

(24 and 25) : In each question, Figure 2 has a
certain relation to Figure 1. Select the option
for Figure 4 which has the same relation to
Figure 3 as Figure 2 has to Figure 1,

24, |: Ly | '?
1 2 3 4

c O
w ® © O

25, 2 7

O

1 2 3 4
|G| Ao
@ ® © O
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28. Which diagram best deseribes the
relationship between Human beings,
Daughtersg, Mothers ?

Which 'word cannot be formed from the:
letters of the word ADMINISTRATION,
using each letter only once 2

(A) SITUATION

(B) STRAIN

(C) TRADITION

(D) RATION

27,

28. Which one is different from the rest ?
(A) Sweet — sour

(B) Pointed — blunt

(C) Slow — high

(D) Peak—vallsy
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29. In a given number 7834328513, we
interchange the first and the second
digits, the third and the fourth digit and
g0 on;, Then which digit will be sixth
from the right 7

(A) 3

B) 2

(C) &
(D) 4
30. IfAxB meansA is the brother of B and
A + B means that A is the father of B
then which one means that ‘M is the
nephew of N' 7

(A) N4MxK

(B) NxK+M

(C) MxK+N

(D) Nene of the abeove

(31 and 32) : Read the passage below and
answer the guestions.

Five friends are standing in a row facing South.
Jayesh s te the immediate right of Ashok.
Praviris between Bablu and Suresh. Suresh

is between Jayesh and Pravir,

31. ‘Whaisat the extreme left end ?
(A) Ashok
(BY Pravir
(C) Bablu
(D) Suresh

Who is in the middle 2
(A) Bablu

(B) Suresh

(C) Pravir

(D) Jayesh

32.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

286.

27.

Tee ADMINISTRATION T Weas a:ﬁ'?
(A) SITUATION

(B) STRAIN

(C) TRADITION

(D) RATION

BH-gaE Y i e
(A) HiE1 - @

(B) T - H5

(C) o ~ St

(D) =¥t - =77t
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29, &HHEI TS T 7834329513 1, B yer 39N
Todt e s 8, g ol wgel ) e
T afie gt waR s ot ot ufefa
FQE |08 1 20 T HE =TT Em ?

{A} 3
(8) 2
C) 9
(D) 4

30. 3@ AxBEH AR A BT 9E 2 o
A+BE SR A B AR, 9 Rewa
7o 2 B M. N e 7

(A) N+MxK
(B) Nx K+ M
(C) Mx K +N
(D) Sojer 5 | g 7

(31371 32) : 1= fow 7w e 1 A af v
Hae A |

o s ol e v w il g wg |
ST A9 31 4 2 | Wl sy et gy 3
| o R e ofi e o

81, SRR FHE?
(A) IR
(B) WK
(C) =5,
(D) B

32 TEHAEEE?
(A) =siT],
(B) i
(C) =i
(D) 591
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33.

34,

37.

(A) 28

“Find the missing term.

if BARLEY is writien as CBTMGZ,
SOUND will be written as

(A) URWOF

(B) TPWOF

(C) UPWPF

(D) None of the above

Complete the series.
BMK DLM FKO HJQ 7
(A) JHS

(B) JIS

(C) JGK

(D) JIR

e 0
- |

' means <, '+
| ‘=" means %', then

16 - Bx6-2+12=7

(B) 24

(D) 22

If '+' means
means =+ an

(C) 17

If 17 % 64 = 4716, 28 % 34 = 4823 then
76%x84="7

(A) BABT

(B) 8764

(C) 4678
(D) 4768

25, 36, 49, 65, 81, 7
(A) G7
(B) 100
(C) 105
(D) 121

-10-

38.

38,

40.
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Which of the diagram represents the
statement-some musicians are
teachers, some teachers are players but
no musician is a player ?

00

e ——

(B)

(C)

13:93 41712
(A) 45
(C) 31

(B) 15
(D) 51

Which digit will appear on the face
opposite to the face with number 4 7

2 &
. 3 5 3
(A) 1 (B) 2
(C) 3 (D) 4
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33,

34.

35.

386.

a7

e I

7§ BARLEY %1 CBTMGZ R simar 2,
AT SOUND =1 Tera=mam |
(&) URWOF

(B) TPWOE

(C) UPWPF

(D) 9 & & 1S wE

sEer 1 ol i |
BMK DLM FKO HJQ 7
(A) JHS

(B) JIS

(C) JGK

(D) JIR

Rt O NG & G
e R e e ¥ Al

16+ 8xB6-24+12=7

(A) 23 (B) 24

(C) 17 (D) 22

AfE 17 % 64 = 4716, 28 x 34 = 4823 A1
76 %84 =7

(A) 6487

(B) 8764

(C) 4678

(D) 4768

25, 36, 49, 65, 81, ?
(A) 97
(B) 100
(C) 105
(D) 121

=11
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38, WHE-¥1 W@ TT wUH TN ¢ 5o

CHOLE,

o) | L=

MR s 1 1 A g

(A 45

(B) 18

(€) 31 (D) 51

. AT 4 T @ o Rl e o -
s 7
2 ic
. s < |®
(A) 1 (B) 2
(©) 3 (D) 4
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iti) Arithmetical and Numerical Ability

A sum of money is to be disiributed
among A, B, G and D in the proportion
of 5:2:4:3. IfC gets Bs. 2,000 more
than D, what is B's share ?

(A) Hs. 2,000

(B) Rs. 4,000

(C) Rs. 6,000

(D) Rs. 8,000

A varies directly as B%. 1IfB=2, A =8,
Find AifB=5.

(A) 10

(B) 25

(C) 50
(D) 100

5% (626)225 =7
'{ﬁ;} 5

(B) 25

1
2]
(D) 125

Which number can be written in form of
nin + 1) (n + 2), where n is & natural
number ?

(A) 8

(B) 16

(C) 24

(D) 32

Which is not.a prime number ?
(A) 101
(B) 103
(C) 187
(D) 141

48,

47,

48,

49,

50.

(A) 5148

Value of x forwhichx, x+ 1, x+2 are all
prime numbers
(A) O
(C) 2

() 1
(D) 3

HCF of two numbers is 10 and their LCM
is 45. Then the product of the numbers is
(A) 25

(B) 75

(C) 45

(D) Cannot be determined

Largestfour digit number exactly divisible-
by 9, 11, 12:and 13 is

(B) 6264

(D) 9698

{_G_;i 7524

The sum of the numerator and
denominator of a fractionis 14. Ifone is
added to the numeralor and 3 is
subtracted from denominator, it
becomes 1. The fraction is

3 . |
) - ® %

1 S
© 35 D) 5

The average of a group of 8 numbers is

68. Ifone of the numbers isreplaced by a.
new number, the average becomes 72.

What is the difference belween the new

number and the old number ?

(A) 4

(8) &

(C) 16

(D) 38
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iif) SreRTTOTE T TS TeaTe e AT

A A B, CERDHuEm 5:2: 445
Bl R R e M B = O oo
3. 2.000 D8 it e £, A1 B w1 aw
G I
[A) 5. 2,000
(8) %,4,000
(C) % 6,000
(D) %, 8,000

AB‘#WW-{L'LE
mAEﬁiﬁa‘:‘T“i AR B =52
(A) 10
(B) 25

= 21 =8

(£) 100

5 (25)228 = 7
(A) &
(B} 25

(C)

G| =

(D } 125

S-S TR (n 1) (n - 27w 1 forl)
ST HERAT & G918 n Uk U e geang 9
(A) 8

(B) 18

(©) 24

(0) 32

Hi - O TS e R Y
(A 101
(B) 163
(C) 187
(D) q41

48,

47,

48,

49,

XERT HIA %ITﬁE‘rx X+, K42
4T AT HEA 2 |

(&) O (B) 1

(C) 2 (D) 3
ﬁﬁmﬁmwmﬁaﬁg%aﬁi
_'IWFITHE?EE 45 %, A1 g
W’%Trf?:'

(A) 25

(B) 76

(C) 45

(D) Fretie =i #t o

9,11, 125713 i Fenfa 2Resh
Waﬁiﬁmmm%

(A) 5148 (B) 6264
(C) 7524 (D) 9698

e o o sty o Er A 14 R | ofR

YT H O S S T v A B g e s
Trom1arwEe | BEme
i 3 a3
A 3 (B) 5
CE-

g #iemail & vk wg % v 68 2 | IR
frey 7 B, 0 o 72 B e # 0 A
(A) &

(B) 8

(C) 16

(D) 36
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53.

24

56.

lf,(Jé)‘E %(9)" = 8"« 33, thenn equals

(A) 0 (B) 8
{C) 5 D) 7
0.8=7

8 8
A 75 B8) 3
88 8
©) 55 ) 35
21 - o1 =2
(A) 100 (B) 10
(C) 1 D) 11

What will be B0% of a number whose
200% 1580 7

(A) 180

(B) 72

(C) 36

(D) 28

if the radius of a circle is increased by
1%, the percent increase in surface
area is

(A) 1.01%

(B) 2.01%

(C) 2.2%
(D) 2.44%

Cost price of 15 apples is equal to
selling price of 20 apples. The loss
percent is
(A) 12.5%
(G) 20%

(B) 25%
(D) 15%

=14~

57.

58.

89.

60,
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A sum was invested at a cerlain rate of

simple interest for two years. Had it been

put at 3% higher, it would have fetched
Rs. 8300 more. The principal amount is

(A) Rs: 1,500

(C) Rs. 4,000
(D) Bs. 5,000

A sum of Rs. 12,000 deposited at
compound interest becomes double
after 5 years. After 20 years it will
become

(A) Bs. 1,24,000
(B) Rs.1,92,000
(C) Rs. 96,000
(D) Rs. 24,000

If the base of a right angled triangle is
4 m and its hypotenuse is 5 m, its area
will be

(A) 4 m®

(B) 5 m?

(C) 8m?

(D) 9 m?

If the perimeter of a rectangle is 200 m
and its breadth is-40 m, then its area in
50. matre will be.

(A) 1660

(B) 24600

(C) 2800

(D) 3600
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. AR (VB) x(9) e xayE, M

(A) 0
(C) 5

(B) 3
(D) 7

0.8 -

0
S

®) ®) 2

Bl Blw

=]
g1

© 0) 5

iz -6 =
(A) 100
©) 1

(B) 10
(D) 11

S TS 61 BO% F1 BT FTE 200%,

902 7
(A) 180
(B) 72
(C) 36
(D) 28

I wh g e 1% SamE s, @
(A) 1.01%

(B) 2.01%

(C) 2.2%

(D) 2.44%,

15891 1 A eq 20 U1 & BEa e §
ST R | BT ufavE

(A) 12.5% (B) 25%

(C) 20% (D) 15%
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&7,

58,

GET IT ON
Google Play

ACV-13/TECHPRT/1T/01

R T & ael F T ve A s
Grerm & 2 R fm i afksiew
ST & U ST S ) 300 5. wifis

(A) %.1,500
(B) ®. 2,500
(C) %.4,000
(D) %. 5,000

12,000 %. #i v Ty 5 = o TRy
I TR S B R | 20 9% w15 ug
Bl

(A) . 1,24,000

(B) %.1,92,000

{C) ®. 96,000

(D) %. 24,000

A U orm o uRET 200 3, iR Her

4070, 2, A zoeE sEeE ), B

(A) 1600
(B) 2400
(C) 2800
(D) 3800
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iv) Test of Language : Hindi

(61 3T 62) : T TR &Y A W ferer R
e forg 8w sy gfe R wedt B AR, &
Y qITEEE | AR FE 3R, o) uE |

B1. (A) T HEH @ & 918
(B) I S0TE it qlah!
(C) & nfa @ =e w2 |
(D) 1z FR et

62. (A) ufeash
(B) 58
(C) F=11 TFE |
(D) e

(63 —65) : o ®iF & foe Swa vs M A A |

63. WF AT TERA_ dwiRy
(A) w=TRE
(B) ufAfrr
(C) wi=nfeTel
(D) =T

64. IWHSNIH___ dEmfEmenTEd |
(A) TIET
(B) TrEyq
(C) =@
(D) =rfa

65. M= et g
(A) et
(B) gt
(C) =
(D) Fvardi

(66 — 68) : HaTRI =1 wel 37 T |

66. @ % A U

(A) STieH =1

(B) TeH2i =78 AT
(C) HaTEm

(D) &ET =T

67. B T T
(A) TCHHA ST
(B) ¥ TEH 56
(C) FHI & &
(DY <= R

68. dIF e FAT
(A) TEHE
(B) B &
(C) Tergradt &M
(D) E@ETsEn

18-
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S
i

6o, ‘mEa el Tl e AR Bt d

(A) STy
(B) SRS
(C) gemftam
(D) s

(70 311 71) : e ot s wo =L
70. (A) Hroeh

(B) BT
(C) unfiftm
(D) sl

71, (A) TRl
(B) ¥id=
(©) Smrem
(D) aTeeft

(72 31T 73) : Tt 7o T = L

72, (A) =R 39 S s B
(B) BHI 3T B S IS |
(C) Tmit 2w s AT 2 |
(D) =R T H ana ifvetE |

73, (A) TH I FIEETHG F= |
(B) R < TR A |
(C) T/ 3 ™ UL T/ FA |
(D) w+ft e
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(74 3717 75) : AT 36e T4 |

74. oA
(A) &t
(C) FT=ren

(B) Bgen
(D) A

75, sfer
(A) 39&
(C) TEH

(B) 9=
(D) =¥

(76 3R 77) : Bl see =)
76. !

(A) R
(C) Fra

(B) =eff
(D) 9

78. Towamm =17

(A) frg + R (B) For: + W
© T +7r (D) foy+ww

79. A Y |
(A) ufersy
(C) it

(B) %R
(D) T
80. FA-UITeE TEFEA R 7

(A) e (B). I
(C) THER (D) =i

ﬁ? Tﬁ
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v) Testof Language : English

(@1 and 82) : Which word is most similar in
meaning to the given werd 7

81. Eager _
(A) Smart (B) Devoted
(C) Enthusiastic (D) Curious
82. Appraise
(A) Praise (B) Estimate
(C) Justify (D) Investigate

(83 and 84) : Which word is mest opposite in
mieaning to the given word 7

88. Incorporate
(A} Amalgamate (B) Enjoin
(C) Exclude (D) Dissect
84. Inhibit
(A) Exclude (B) Activate

(C) Simulate (D) Expand
(85 ~ 87) : Select the correct meaning of the
given idiom/phrase.

85. By the skin of one's teeth
(A) Justin time (B) Hardly
(C) Barely (D) Speedily

86. Toplay fast and loose
{A) Cheat during play
{B) To win sometimes and to lose at
- others
(C) To play tricks
(D) To play with someone’s fealings

87. Tobreaktheice
(A) Make friends
(B) To start a.conversation
(C) To dissclve ald enmity
(D) To win

(EE 90) : Select the word which is wrongly
spelt.
88. (A) Onerous
(B) Tentetive
(C) Deleterious
(D} Parochial

(A) l.udicurous
(B) Excruciate
(C) Retribution
(D) Indolent

(A) Accentuated
{B} Stringent

(C) Connosseur
(D) Prerogative

(91 and 92) : Fill in the blanks.

81. Gandhiji had the path of
non-violence.
(A) Suggested (B) Accepted
(C) Adopied (D) Proposed

92, Alithecharactersinthisstorvare

(A) Imaginative (B) Unreal
(C) Unreliable (D) Fictitious

(93 and 94) : A part of a sentence is underlined.
Select the option which, when substituted for
the underlined part wxll improve it. If no
improvement is possible, select (D).

93. The fact finding teamwhich had been at
the area found the situation very grave.

(A) Which had been for
(B) Which led to

(C) That had beento
(D) Mo improvement

-18-
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94, What did happen there earlier does not

interest me.

(A) What had happen
(B) What happened

(C) What would happen
(D} No improvement

(95— 100) : Read the passage and answer the
questions that follow .

Reports of farmers dying from pesticide
exposure in Maharashtra's cotton belt in
Yavatmal make it evident thai the government’s
efforts to regulate toxic chemicals used in
agriculture have miserably failed. 1t is natural
for cotton growers under pressure to protect
their investments to rely on greater volumes of
insecticides in the face of severe pest attacks.
It appears many of them have suffered high

. levels of exposure to the poisons, leading to
their death. The factthat they had to rely mainly
on the advice of unscrupulous agents and
commiercial outlets for pesticides, rather than
on agricultural extension officers, shows gross
irresponsibility on the part of the government.
But the problem runs deeper. The system of
regulation of insecticides in India is obsolste,
and even the feeble efforts at reform initiated
by the UPA government have fallen by the
wayside. A new Peslicides Managament Bill
introduced in 2008 was studied by the
Parliamentary Standing Committee, but it is still
pending. At the same time, there is worrying
evidence that a large quantum of pesticides
sold to farmers today is spurious, and such
fakes are enjoying a higher growth rate than
the genuine products. Clearly, there is a need
for a high-level inguiry into the nature of
pesticides used across the country, and the
failure of the regulatory system. This should be
similar to the 2003 Joint Parliamentary
Committee that looked into harmful chemical
residues in beverages and recommended the
setting of tolerance limits.

96.

87

95:

(C) Deplorably
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Which word can replace “miserably” in
the above passage ?

(A) Admirably (B) Poorly

(D) Astonishingly

Which farmers have suffered very high
level of exposures to pesticides ?

(A) Sugarcane farmers

(B) Rice growers

(C) Cotton growers

(D) Not clear from the passage

The antonym of spurious would be
(A) Valuable  (B) Real
(C) Genuine (D) Stable

Whose responsibility it actually was to
provide correct advice on pesticides to
farmers ?

(A} The pesticide manufacturers

(B) Agricuiture Extension Officers

(C) The pesticide distributors

(D) Not clear from the passage

What according to the above passage,

is the deeper problem related to use of

pesticides in india 7

(A) That farms use tco much pesticide

(B) That farmers don't take adequate
protective measures

(C) That regulation of pesticides is
obsolete and inadequate

(D) Not clear from the passage

100. The noun relaied to “obsolate” will be

18-

(A) Obsolete
(B) Obsolescence
(C) Obsolent
(D) All of the above
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Post Specific Subject-Related Questions

Which leve| ef cognitive demain would
the following question relate to ?
“Would frequent washing of hands result
in reduction in incidence of diarrthoeal
diseages 7"

(A) Comprehending

(8) Applying
(C) Analyzing
(D) Evaluating:

In the: affeclive domain, abstract
knowledge is built at the level of

(A) Valuing

(B) Organizing

(C) Characterizing

(D) None of the above

As par the NCF 2005, the role of teacher
Isthatof a

(A) Leader

_{B_j_ Evaluator

(C) Fagiliator

(D) Allof the above

cording to NCE 2005 recommendations,

'1h9 percentage of short answer lype

guestions should be
(A) 5—10%

(B} 25—40%

(C) 70 —80%

(D) Al of the'abave

105

108,

107.

1C8.

20

Micrdtaaching was invented by

(A) e Long

(B) Reod Hastings

(C) St

el Sampson
(@) Diwight Alien

1Q: level which differentiates. leaming
disordars fromintellectual deficiency is
(A) 50

(B} 70

(C) 80

Dy 100

Which activity doas nat invelve active
fearping 7

() luecture

(B8) 'Greup discussion

(B) Student tebate

(B Leaming by teaching

In Erik Eriisons thaory of Psychnsocial
development, the stage-of ‘Industry vs
Inferiarity takes place during the years
(A) 45 yeans

(B) b—12years

(C) 18-
(D) 2

{Qyears

4 years
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101,

102.

103.

104.

o

HT -5

o et 8 2
(A) WHETH
(B) =T

{C) fargermm

(D) et

waE e,
iﬂ?mw% |
(A) e

(B) Sy

%ﬁtﬂ?ﬁ%@f

() P

(D) Ifr & g

NCF 2005 % sigam, Riers # gfie
Eaanie

(A) T

(B) w
(C) Wit
(D) S weft

NCF 2005 i aegfedi % s@ER, &g
FOUTHS T T ufosm e |

(A) 5-—10%
(B) 25-40%
(C) 70— 80%

(D) e Tl

105.

1086.

107.

108.
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&&ﬂﬁTﬂﬂTﬁ @l
(A) T =

(B) fig efeeg

(C) EagrET
(D) SIEZ TR

__ BuHmER

TS T S 0 A Y fe Bt

(A) 50
(B) 70
(©) 80
(D) 100

o R o vemer v e A 2 7
(A) =T

(B) wHe ==

(C) Toeneftare-Toam

(D) 9T+ 21 A

e aftare o T T R s el
q, ‘s e o

A g |

(A) 4-5

(B) 5—12

(C) 18-19
(D) 2-4
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109. Abstract thinking generally begins in

110.

111,

112.

(A) Sensorimotor stage

(B) Pre-operational stage

(C) Concrete operational stage
(D) Formal operational stage

Maila's mother is a responsive parent

who takes care to satisfy Mala's needs.

Mala is-an infant. According to Erikson,

Mala is likely to '

(A) Form a lifelong attitude of basic trust
toward the World

(B) Experience certain leaming
difficulties

(C) Have difficulty in forming attachment
to her brother

(D) Become a gifted child

A statistical measure that indicates the
extent to which changes in one factor
are accompanied by changes in another
(A) Standard deviation

(B) Correlation coefficient

(C) Quartile deviation

(D) Range

For a symmetrical distribution, two
standard deviations (2g) covers
approximately % of items.

(A) 68
(B) 78
(C) 95
(D) 98

113.

114.

115.

116.
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An example of Vygotsky's zone of

proximal development would be

(A) Ateachertellsa gffted student how
1o take good class notes so that the
student can do even better

(B) Less competent children develop
with help from their more gifted
peers

(C) Such homeweork is given which the
student cannct complete 6n his own
but can do it with some heip fram
the teacher

(D) All of the above

Type of reinforcement which produces
the:slowest rate of extinction is

(A) Centinuous reinforcemenit

(B) Fixed ratio reinforcement

(C) Fixed interval reinforcement

(D) Variable ratio reinforcement

Gestalt theory postulates that elements
are grouped as per palterns. This is the
bﬁncipie of

(A) Proximity

(B) Similarity

(C) Simplicity

(D) Closure

An advantage of leciure method is that

(A) Facilitates problem sclving

(B) Has high receptivity among students

(C) Can impart large amount of factual
information within a short period

(D) All of the above
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110.

b i 18

112.

247

(A) FHiTsa Ewn

(B) & % e s

(C) S EEIHTR ST

(D) @i wimm st

e vt B | A o g R 1o &
SO, ATE H HEEA R |
(A) Torar e e Torvae =1 sfteala
(B) T T3 SIS 31 ST W A
(C) =19 NS & & s H i

(D) TR = EAE

U wifersh) 7 St 9 Him g § Sl
9 U SR W G o a1 g FREh
i i e

(A) I ferae

(B) redisy Tunis

(C) =g R

(D) ref

ok R e oTREA |, B Wi e (26)
T % TR I S
AT |
(A) 88
(B) 78
(C) 95
(B) 98

113.

114,

115.

116.
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AT o & o fereee Tershn ahl 3aTetT

(A) e Fvegen S faremell 6t wara @ 7

(B) 39 e 3vza fiEt ) " A
A TEE T SR BT

(C) Y Eehr fer st &, S feremefl st
T T B

(D) s st

() Fraggge
(8) e s gEg
(C) T siaue gadiFm
(D) = AT Yeg 10T

TR STEH TR B WA iRy | 9%
. wfmmEE

(A) \We

(B) TR

(C) wrrh

(D) FHEH

e T s e g

(A) SR GEA ) G AT

(B) Tt we sifumegar B 8

(C) W g srfy qurers g e
W Yehe AT &

(D) s EH
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117. Some of the demerits of the lecture | 120. Where were Kindergaren Schools first

method can be overcome by established 7
1. Prolonging duration of lecture (A) USA
2, Presenting the topic in an.organized (B) UK
manner (C) Germany

3. Using audio-visual aids

D) Denmark
4. Ensuring student discipline o)

(A) 1and 2 _ _
- 121. A standardized testing method must
(B) 2and3 have the following qualities
(C) 3and4 (A) Evaluation and Usability
(D) 2, 3and 4 (B) Validity and Evaluation

(C) Comprehensiveness, Evaluation
and Practicality

118. Which of the following is hot a (D) Validity, Retiability -and Practicality
charagcteristic of learning 7

(A) Leaming is a life long process 122, Student's writing style and powers of
(B) Learning is diractly abservable expression are best tested by
(A) Verbal questions and answers in

(C) Learning is retained through
the classroom

practice
(B) Standardized tests employing

B Norigoitaebavs " abjective type questions
(C) Tests requiring descriptive answers

. . Nigssl. () (D) All of the above:
119. Grouping of physical objects inte

classes based on their characterstics
is-a feature of 123, Dalton system of education was
(A) Learning by discrimination developed by

(A) Maria Montessori

(B} John Dewey

(C) Conecept learning (C) Helen Parkhurst

{D) Operant conditioning {D) T. Remont

(B) Learning of principles
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4, Tormeff srgemrer g T e
(&) 132
(B) 213
(C) 33ie4
(D) 2, 341 4

Frafofiae 8 @ S -0 989 =1 v e
el

(A) w7 us srefia w2

(B) T Y Fommeiig

(C) ?ﬁwmgﬁﬁﬁmmw
(D) FRjar & § %18 el

T A e ARG 1 TR S
FE 3 ST 9 T i
T fAEar s |

(A) 2 BRI Ya

(B) Traidl s ues

(C) heaa] 93

(D) =erar Haee

120.

21
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TR T wel el et e T
g ?

(A) FEud

(8) T

(C) St

(D) Sk

o s e 5 4 Refaies
(A) TEis T =T

(B) St iy gegiEA

(C) e, Hearera S saaara

(D) S, fergerfia iR el

Frensf ) v S ofi it
wifaa T e Sy et ullan
EFEC IRkl
(A) e B o1 Rreh e, 21 S

(B) SEgiie hl % WAiaTe WA
- ullEm

(C) Brga smwE adam
(D) E‘ﬁ‘,ﬁﬁmﬁ

ey =Rt eTeeq ot
Tmig Aim 2

(A) HfET i

(B) S g

(C) B TR

(D) 2. =
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125.

126.

it |

127.

{C) Involves problem solving

e

Which is not true of heuristic teaching
method 7

(A) Learning by self-experience

(B) Useful at primary level of education

(D) Students are active throughout
learning process

Heuristic method of teaching was
developed by

(A) Danker

(B) Armstrong

(C) Herbert Spencer

(D) Monroe

Which is true aboutthe inductive method

of teaching grammar ?

(&) Allows even poorly trained teachers
to teach grammar by using leciures

(B) Is learner ceritric

(C) Allows teaching of finer points of
grammar

(D) All of the above

Giving homework is effective in teaching

mathematics. Which is the maost

important reason ?

(A} Tokeep students busy at home

(B) Because time for practicing
mathematics problems is not
sufficient during school time

(Cy To promote self study among
students

(D) To increase parental invelvement

=26

128.

129.

130.

131.
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Multiple intelligence Theory was
given by

(A) Kohter

(B) Gardner

(C) Piaget

(D) Paviov

Correlation of IQ scores with academic
performance is

(A) Low
(B) Medium
(C) High
(D) Perfect

Which is nota knowledge type proposed
by Piaget ?

(A) Physical
(B) Logical mathematical
(C) Social

(D} Linguistic

B.F. Skinner is associated with
(A) Gestalttheory

(B) Classical conditioning

(C) Operant conditioning

(D) None of ihie above
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124, FEEEl e RS B dr-mwa R ?
(A) -2 FREIE

(B) Tran & merfie G o gwnf

(D) Feremefi et o B & dro
125, g & orgAr Bl 4t
Eeateicabicll

(A) S

(B) aAmdezm

(C) THETRR

(DY TR

S T o e Tl SR & -
TR

(A) AT it e g R o
(B) fFreneif f3a &

(C) s Een fgafi R e s
(D) FfzT =l

127. TG UER & TEERE A W9 2 | -
(A), TRt =t e ur = T

(B) e TTTorer 2w o6 AT o TR
(C) Rrenf¥iit wmenem #i sgen 20

(D) sifiysrerht 2w B s aRr ¥ iy
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(A) IR
(B) TR
() TSt
(D) e

st
(A) F
(B) HEaH

(€)==A

(D) Teresper wel

- TS S S e I o 6

(A) i

(B) b v
(C) G
(D) wifg

6. 1%, TR __ AgeE
(A) Trree i
(B) Fod STFE

(C) i SHEEH
(D) I WA S T
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132,

133.

134.

135,

According to the social constructivist
approach, role of an instructor is that of
(A) Evaluator

(B) Facilitator

(C) Lecturer

(D) Nene of the abiove

It the chronological age of the child is
60 months and his mental age is 66, his
IQis

(A) 90

(B) 100

() 110

(B} Cannot be determined

The process of changing the existing
schemas to include new information is
called

(A) Calibration

(B) Conditioning

(C) Adaptation

(D) Accommedation

Disability which affects a child's hand
writing ability anad fine motor skills

(A) Dyscalculia

(B) Dysgraphia

(C) Dystonia

(D) Dysmorphia

136.

187.

138.

138.
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Which term best describes a child's
physical growth ?

{A) Qualitative

(B) Conceptual

(C) Quantitative

(D) Unorganized

Dyslexia is characterised by difficulty in
(&) Text comprehension

(B) Number processing

(C) Abstract concepts

(B) Writing

Which is the best way a primary school
teacher can use to motivate herstudents ?
(A) Set rigid goals and milestones for
 the entire class
(B) Reward and praise the most gifted
students
(C) Help children to set their own goals
and help them in working towards
the same
(D) Encourage competition for marks
among students

Which type of assessment is used for
identifying learning deficlencies 7

(A) Formative

(B) Unstructured

(C) Diagnostic

(D) Summative
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140. Which of the following will not be a | 144. What is the main objective of school

factor for motivation 7 discipline 2
(A)Y Awarding prizes for good (A) To provide a safe environment for
performance students

(B) Providing  incentives  for
achievements
(C) Praise on achieving or exceeding

(B) Teidentify delinquents so that they
can be remedied

(C) To provide conducive environment

ohiectives )
o 3 , for teaching
(D) Preseribing high repetition practice
of a topic (D) Toensuresafety of teachers

141. Pintner Paterson scaleiis a

(A) Verbal test 145. Whichis the biggest advantage of giuing
(B) Non-verbal test regular homework to students ?
(C) Performance tes! (A) Students keep busy and away from
(D) Culture specific test mischief

(B) Students develop the habit of self

142, In psychometric testing, existence of ‘g study

factor was proposed by ' (C) Parents are made aware of whatthe
(A) Binet child is studying
{B} Babbage (D) Workload of teachers is reduced

(C) Thorndike
(D) Spearman

146. The main purpose of establishing

143. In order 1o modify the undesirable Navodaya Schools is

behaviour of a student the most effective (A} Promoting universal literacy

method is (B} Providing good edugation in rural

(A) To inflict punishment areas

(B) To ignore it (C) Reduce dropout rates among rurai

(C) To ask the parents to deal with it youth

(D) To find out the reasons and attempt {D}_ Increase number of schools in rural
to provide remedies areas

-30-
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147, As per Howard Garaner's theory of | 151.
multiple intelligences, which ferm of
intelligence is not valued in schools ?

(A) Spatial
{B) Linguistic
(C) Logical
(D) MNone of the above
_ | 152.

148. In CCE, what parcent is formative
assessment 7
(A) 20%:

(BY 40%
(C) :50%
{D) 75%
153.

149. Which of the following is not an
appropriate tool for formative
assessment ?

(&) Assignment
(B) Oral questions
(C) Quiz

(D) Term test

150. 'Operation Blackboard' is related to 154.

{A}' Providing blackboards in rural
schools

(B) Providing universal enroiment

(C) Providing basic facilities in all
schools

(D) Preventing dropout in schools

GET IT ON
Google Play

ACV-13/TECHPRT/AT/01

Which is not among Gardner's list of
seven intelligences ?

(A) Spatial

(B) Naturalist

(C). Physical

(D) Intrapersonal

Which is not a Thurstone P.M.A. ?
(A) Number

(B) Emotion

(C) Memony

(D) Reasoning

A child demands incentive for doing
certain household work. Which of
Kohlberg's stages of morality is this:
refated to 7
(A) Stage 1
(B) Stage 2
(C) Stage 3
(D) Stage'5

A child cannot dis‘ting&is"h between
‘ANT' and ‘TAN', STARED and
STARTED. What could be the condition ?
(A) Dysmorphia |

(B) Dyslexia

(C) Dyscalculia:

(D) Dysgraphia
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155. Which is not a quality of a good lecture ?
(A) Uses illustrations and examples
(B) Builds on existing knowiedge

(C) Explains multiple themes in a single.

lecture
(D) Should not be too long
156. Who wrote “The only learning which
significantly influences behaviour (and
education) is self discovered" 7
(A) Garl Rogers
(B) Maria Montessori
(C) John Dewey
(D) Lev Vygotsky
187. Which is not an example of scaffolding 7
(A) Givingassignmenis which students
cannot do on their own but can do
with some help
(B) Administering standardized 1Q tests
(C) Otherwise gifted students being
taught about the correct way of
taking notes
(D) All of the above

168. Which is likely to be the least effective

method of teaching scientific concepts ?

(A} Giving lecture to a large classroom

(B) Giving demonstration of scientific
principles to a small group

(C) Laboratory experiments performed
by students

(D) Socience projects

189,

160.

161,

GET IT ON
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The best way to enhance learning in
lower classes is to

(A} Offer incentives for each step of

learning
(B) Drill in mathematics
(C) Praising the gifted students

(D) Connecting the content to the life of

the students

Proximodistal development means
(A) Fromtop to bottom:

{B) From bottom to top

(C) From inward to outward

(D) From outward to inward

Which theory of learning is completely
dependent on ‘observable behaviour' 7
(A) Behaviourist

(B), Cognitivist

(C) Developmental
(D) Constructivist

Effect of heredity on a particular

behaviour is indicated when

(A) Fraternal iwins express the
behaviour more similarly than
identical twins

(B) Identical twins express the
behaviour more similarly than
fraternal twins =

(C) Thereis little similarity in expression
of behaviour both in identical and
fraternal twins

(D) Both fraternal and identical twins
express the behaviour equally
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165.

247

‘Child Centered Educatien’ can be

justified on the basis of

(A) Children know what is best for them

(B) Children have a right to decide
‘about education

(C) Children have individual differences |

(D) All children are equal

Assigning different tasks to differenit

students can be justified on the basis of

(A) Students like variety

(B) It prevents copying of assignment

(C) There are individual differences
among students

(D) It cannot be justified at all

As per Kohlberg's theory, moral
reasoning depends on

(A) Context
(B) External Stimuh

., (C) Training

166.

(D) Stage of development

In Piaget's theory, object permanence
is developed towards the end of
— siage.

(A) Sensorimotor

(B) Preoperational

(C) Congrete operational

(D) Formal operational

167,

188.

189.
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You are teaching in a class where most

students are weak in arithmetic

However, three students appear to be

gifted. What should be your teaching

style 7

(A) Follow the standard pace of
teaching for all students

(B} Takefrequent tests so that the weak
students are forced to study hard

(C) Keep the pace slow bui provide
exira guidance to the bright students

(D) ‘Ask the school administration to
shiftthe bright students te a different
saction

Three students in a class always sit at

“the back and disturb the class by talking

continuously. Whatwill you do to remedy

the situation ?

(A) Ask themite sit on front benches

(B) Ask them o leave before the class
starts

(C) Reguest the principal te remove
them from school

(D) lgriore them

The learner as ‘Tabula Rasa' is a
presumption in

(A) Cognitivism

(B) Gestalttheory
(C) Consiructivism

(D) Behaviourism
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170. The best way to teach children about
the process of filtration would be

(A) To give a lecture expiaining the
process

(B) To have a class discussion

(C) To draw detailed diagram on the
board

(D) To give a demonstration of the
process

171. The best way to make students

memorize multiplication tables would be

(A) Teacher writes tables on board and
asks students to copy

(B) Give homework in which students
have to write tables

(C) Drill and Practice

(D) Give students a deadline by which
they should memorize tables

172. Which is not true of CCE system ?

(A) Encourages spirit of competition
among students

(B) Identifies learning progress on small
portion of content

(C) Provides remedial feedback

(D) Recognizes and encourages
non-academic abilities

173.

174.

175.

176.

GET IT ON
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Vygotsky’s social development theory
laid the foundations for

(A) Behaviourism -
(B) Humanism
(C) Constructivism

(D) Operant Conditioning Theory

‘Tabula Rasa' concept was first
propounded by

(A) Piaget
(B) John Locke
(C) Voltaire
(D) Dewey

Learning appropriate behaviour as a
student of a primary school is

(A) Primary Socialization
(B) Secondary Socialization
(C) Re-socialization

(D) Anticipatory Socialization

Which of the following is not a principle
of child development ?

(A) General to specific
(B) Continuity

(C) Sequentiality

(D) Reversibility
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177. That knowledge is 'Given and absoltte’
2 not accepted by

247

(A) Behaviourism
(B) Cognilivism
(C) Constructivism
(D) All of the above

178. Gifted students will generally be
(A) Very hard working

(B) Extroverts

(C) Cenvergent thinkers

(D) Divergent thinkers

178. In Bloom's hierarcy, skills are

associated with
(A) Cognitive domain
(B) Psychomotor domain
(C) Affective domain
(D) All'of the above
180. Group project work helps in developing
(A) Sfrong intra-group competition
(B} Individual sense of achievement

(C) Collaboeration and problem salving
zkills

(D) All of the abave

181.

182.

183,

184.
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Marble monuments such as Taj Mahal
are getting damaged due to the polluting
gas

(A) Carbon dioxide

(B) Sulfur dioxide:

{C) Carbon monoxide

(D) ©Ozone

Which of the following is not powered
by solar energy ?

(A) Monsoons

(B) Ocean currents

(C) Photosynthesis

(D) Ocean lides

Among the language skills, the most
difficult is

(A) Listening

(B) Speaking

(C) Reading

(D) Writing

Which is not a characteristic of students

with learning difficulties ?

(A) Short attention span

(B) Normal learning motivation

(C) Difficulty in understanding abstract
concepls

(D) Weak in problem solving
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185. Onfurtheranalysis, it is found that a test
does not adequately measure those
attributes which it was designed for the
test has poor
(A) Reliability
(B) Predictability
(C) Validity
(D) Reproduction

186. Laboratory experiment in science will
be classified as

(A) Audio aid

(B) Visual aid

(C) Activity aid

(D) Audio-visual aid

187. Which of the following is not an

advantage of project based instruction ?

(A) Increases student motivation by
allowing choice

(B) Improves rote learing

(C) Connects school based instruction
to real life

(D) All of the above

188. ‘Testing the legitimacy of a conclusion’
will fall in which category of Bloom's
taxonomy ?

(A) Knowledge

(B) Analysis

(C) Creating

(D) Evaluation

189.

190.

191.

192.

GET IT ON
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As per Kolb's learning styles, the most
cognitive approach is found in

(A) Accommodators
(B) Divergers

(C) Assimilators

(D) Convergers

In Kolb's learning styles, which one
reflects abstract conceptualization/
active experimenter ?

(A) Convergers

(B} Divergers

(C) Assimilators
(D) Accommodators

NCF 2005 is largely based on
(A) Behaviourism

(B) Cognitivism

(C) Humanism

(D) Constructivism

Which was not a guiding principle for
NCF 2005 ?

(A) Connecting knowledge to life
outside school

(B) Shifting away from rote leaming

(C) Increasing arithmetic competency
among students

(D) Flexible exam system
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198. A gun recoils upon firing. This is as per
the principie of conservation of
(A) Speed
(B) Momentum
(C) Force

(D) Energy

194. Mostimportant reason for having games

in schools

(A) Makes students strong

(B) Keeps students busy

(C) Increasing cooperation and
physical coordination in students

(D) Becausestudenis demand sports

195, Theterm 'Least restrictive environment'

refers to education of

(A) Students taking a career in physical
education

(B) Gifted children

(C) Physically or mentally challenged
children '

(D) Very young child

196. Recreational reading should be

(A) Discouraged as it takes away oo
much time

(B) Allowed enly in the library

(C) Should be done only at home

(D) Is helpful and should be an integral
part of language curriculum
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Metamorphosis is not seen in
(A) Butterfly

(B) Moesauito

(C) Silk worm

(D) Fishes

All are computer operating systems
except

(A) Microsoft office
(BY Linux

(G) Windows 10
(D) i0S

‘Expleration’ is most important during
stage.

(A) Early childhood

(B). Preschool

(C) Infancy

(D) Adolescence

Which is not one of the ways to reduce
exam anxiety among students 7

(A) Avoid basing most of the grades on
one or two grades

(B) Emphasize on writien tests

(C) Avoid unnecessary time pressure

(D) Provide clarity regarding syllabus

for exam
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stiggesled answers o completions, in each
tase, you ang reguired to Select Ihe ona that
correctly answers e duestion or completes
the statament and blacken (@) appropriate
gimleA B, Cor [ by Blue / Black Ball-Peint Pen
agams! the guastion cencernad in the Answear-
Sheel. {For V.H. gandldates corresponding
circle will be biackened by the seribe)
WMark vour answer by shading the appropriate
sirele against each guestion; The dircle
should be shaded complstely without leaving
any space. The comect methicd of shading
5 given bslow,

|"&Er‘cqg WA || Wicinry et | | iicey famad gﬁ-m'mwm I
el Nele) [wizielelieioiniel el Joie

The Candidate must mark hisfher response
atfter eareful consideration

15, There is only ong cormes! answer 1o each

question. You should blacken (@) the cirele o
the:: apprmp Hale ::.:-ium:j Ve, A B G oer Br
you bigeken {.]l mere than ona circle: against

any one guestion, the answar will be treztod as -
wrong, IFyouwish o eancsl any answer, you

should complefely erase that black mark in the

girele in the Answer-Shget, and then blacken the-

clrale ol revised tesponse.:

A machine will read the coded information in the
OMB Answer-Sheet.. In case the infermation is
Inmmplt.!e!c"ﬁaﬁenl from the information given

i the applicatian form, the candidature of such-

candidata will be treated as cancelled!

Use the 2pace for ough work divenin the Cusstion
Booklel only and nal on the Answer-Sheat

You are NOT required 1o mark your answers:

in'this Booldet. All answers must be indicated
in the Answer-Sheat only.

GET IT ON
Google Play

ACV-13/TECHPRT/1T/01

IMEORTANT INSTRUCTIONS TO CANDIDATES
. This boeklel containg 48 pages. .-
. Please gheck all the pages ol the Booklét

58 i A 48 T B

2. g e o AT g s Fa = af

13.

14,

=

16.

17

18.

G R, A T S S e TR |

Fdor ¢ welteh waw STem velsh ST SR FATe W
S A T I R | T G T
e ieaiecaili el co e fe il e |

‘e ) S S % S

TeTRET EWE A, B, C 2 Dt e 2 e A
mwaaﬂm (@) FFn & | (ghestiia
Fuiteamt = fu g meren & g
AT TRa F L)

O ST G ST L 1 e o ot 1T
Fi fo | R v o Rl s |
FeraTie = ‘ﬂﬁﬁ%aﬁmiﬁaﬁmw% |

et || T et | e e iﬁ“lafm
C&D0|ICBO0 E}@GD 0800

fafea s sl |

R WO T SR U B4R IR | ST
Tfer e St A, BC I D T
o F e (@) TR IR By s
e e @ Al i @m i E (@) T
STTRT T T S TR | 2 s e 3
R SE # A o718 2 - 3 TR
G e T A e B e e e
I A T T R I SR L
SN, I H 9 TS g =
e et u | 2% g arpel 2 avEn TR
R R e e R e T
e o T S e e B R v e
TR | SE-lse o s i A |
wu dffeeeT % o amamt e eife
R | I e Sw-aE E A E |

Gio through instructions given in Page No. 1 (Facing Page)

48


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

